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Electronic Supplement to article:

The influence of thermal coupling and diffusion on the importance of reactions:
The case study of hydrogen—air combustion
(authors Istvan Gy. Zsély and Tamas Turanyi)

The rows of the table belong to the reactions of the hydrogen combustion mechanism. The four linesin
each row belong to combustion models Z1, Z2, Z3/Z5, and Z4/Z6. Definition of the models is given in
the text. The columns belong to model temperaturesin 100 K steps and are grouped according to fuel-to-
air ratios ¢=0.5, 1.0, 2.0, and 4.0. Yellow shading means that this temperature is not attainable by the
corresponding model. Grey shading means that the corresponding reaction was found important by the
PCAF method at the corresponding temperature, fuel-to-air ratio, and combustion model.



